Algebra 2 - Mr.C. - All work on looseleaf.

Practice for Q3Exam?2
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Name

ID: 1

Date Period

Use the information provided to write the standard form equation of each ellipse.

1) Center: (7, 4)
Vertex: (18, 4)
Focus: (7 - 4\/g, 4)

3) Center: (—5, 10)
Vertex: (~14, 10)

Focus: (—5 - \/E, 10)

5) Center: (-2,2)
Vertex: (11, 2)
Focus: (—2 + V165, 2)

7) Center: (7, 4)
Vertex: (7 - 1105, 4)
Focus: (7 + V55, 4)

9) Vertices: (—1, 14), (—1, —10)
Co-vertices: (6, 2), (—8, 2)

11) Vertices: (-4, 3), (-4, -9)
Co-vertices: (0, —3), (—8, —3)

13) Vertices: (-5, 7), (-5, -9)
Co-vertices: (2, —1), (—12, —1)

17 17
15) Vertices: (—, 0), (—, —20)
2 2

21 1
Co-vertices: (—, —10), (—3, —10)
2 2

17) ,
/N,
AR
\
\ |/
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2) Center: (—6, —2)
Vertex: (—20, —2)
Focus: (—6 + V115, —2)

4) Center: (7, 8)
Vertex: (7, 20)

Focus: (7, 8+ 3\/E)

6) Center: (—4 3)
Vertex: (—4 \/7 3)
Focus: (—4 \/_ 3)

8) Center: (5, 3)
Vertex: (5 +54/3,3)

Focus: (5 + 3\/§, 3)

10) Vertices: (—7, 5), (—7, —15)
Co-vertices: (—2, —5), (—12, —5)

12) Vertices: (2,9), (2, -11)
Co-vertices: (6, —1), (—2, —1)

14) Vertices: (-1, 6), (=1, -20)
Co-vertices: (9, —7), (—1 1, —7)

16) Vertices: (3, 4), (3, -18)
Co-vertices: (10, —7), (—4, —7)
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Identify the center, vertices, and foci of each. Then sketch the graph.

, ( 7)2 X’ (y+4)2

y+— 24) — + =1
3y 2 oo
49 9
2 2 2 2
25)x—+(y_1)=1 26) — + 2=
16 9 15 10
2 2 2 2
27) b—af  Ged) 28) beaf G2,
9 4 9 25
2 2 2 2
29) (e-2) +(y+3) ~ 1 30)x—+(y_1) ~ 1
16 9 49 16

Use the information provided to write the standard form equation of each circle.

31) Center: (-8, -11) 32) Center: (14, 15)
Radius: 8 Radius: 3

33) Center: (5, —3)

1
34) Center: |14, —
Radius: \/43 ) Center ( : 2)

Radius: 3
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35) Center: (-2, —12)
Point on Circle: (—6, —15)

37) Center: (-4, —4)
Point on Circle: (—13, —7)

39) Ends of a diameter: (—2, 5) and (—4, 17)
41) Ends of a diameter: (—7, 16) and (3, O)

43) Center: (14, 14)
Tangent to x = 18

45) Center: (4, 9)
Tangent to y =2

47) sin* @ + cos® 0
49) tan® 0 + 1

s1) sin’ @
1 —cos® @

53) sin 9.— cos 6
sin &

36) Center: (2, 16)
Point on Circle: (2, 19)

38) Center: (-1, 2)
Point on Circle: (10, —5)

40) Ends of a diameter: (5, 7) and (—1 1, —5)
42) Ends of a diameter: (—1 1, 12) and (7, 6)

44) Center: (10, -9)
Tangent to x =2

46) Center: (7, O)
Tangent to y =4

48) csc @ - tan @
50) sin -6
52) sec 8 —tan @ - sin @

54) cos 6

sin @

Determine if the sequence is arithmetic. If it is, find the common difference and the term named in the

problem.

55) 7, 15, 23, 31, ...
Finda37

56) —38, —238, —438, —638, ...
Find a,

Given two terms in an arithmetic sequence find the common difference and the term named in the

problem.
57) a,,=-370 and a, =-810

Find a,

59) a,, =86 and a, =152

Find a.,

Evaluate each arithmetic series described.

61) a =0, a =42, n=15
63) a, =43, d=9, n=40

65) 6 +9+12+15.., n=18

© 2013 Kuta Software LLC. All rights reserved. Made with Infinite Algebra 2.

58) a.,= 106 and a40=221
Finda21

60) a,_=-146 and a, =366

Find a,

62) a,=-10, a =112, n=35
64) a,=-28, d =7, n=20

66) (=22) +(=26) + (=30) + (-34)..., n=16



49
67) > (10 -6

i=s
69) a, =43, a =153, n=12
71) @, =39, d=8, n=5

73) 2+6+10+14..., n=13

75) 3. (9% - 1)

Determine if the sequence is geometric. If it is, find the common ratio and the term named in the

problem.

77) -1, -4, —16, —64, ...
Find a,

79) 2, -8, 32, —128, ...
Find a,

Given two terms in a geometric sequence find the common ratio and the term named in the problem.

81) a,=81 and a =3
Finda

83) a,=4 and a,=-8

Find a,

Evaluate each geometric series described.
85) -1+4-16+64.., n=9

87) a,=-2, a =-1458, r=3

9
89) ». 37!
i=1

91) a=-3,r=2,n=10
93) 3+6-12+24.., n=8

95) a,=2, a =-256, r=-2

97) Y. 4. (2!

99) al=—1, r=—4,n=9
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26
68) Y. (2k - 10)

k=2
70) al:7, an=43, n="7
72) a,=5, d=4, n=10

74) 44+9+14+19..., n=20

76) >, (3n—4)

78) -3, -6, —12, —24, ...
Find a,

80) 1, 3, 9, 27, ...
Finda10

82) a,=-3 and a, =-81
Finda

84) a,=-162 and a, =54

Find a,

86) ~1—4-16-64.., n=6
88) a =2, a =-781250, r=35
9

90) Y. (-4)"~!

m=1

92) a=-3,r=2,n=7
94) -4+12-36+108..., n=7

96) a, =2, a =156250, r=-5

08) > —4.(-2)"!

100) a =2, r=-3, n=9



Find the geometric mean in each geometric sequence for the given terms.

101) ..., -3, _, —48, ...

102) .., 2, 72, ..

Find the missing side. Round your answers to the nearest tenth.

103) In AXYZ, ms/X=129°, y=22, z=21
Find x

105) In AYZX, m2Y =137°, x=11.8, z=8.5
Find y

107) In AORP, mZR =27°, m/P=65°,r=5
Find p

109) In AXYZ, mz/X=61°,msY=107°,z=5
Find y

Find the area of each triangle to the nearest tenth.

111) InASTR,t=9, r=16, mzS=81°
113) InAFDE,e=4, m/F=143°, d=4
115) InAPKH, h=12, p=6, k=12
117) InATRS,t=6, r=10.2, s=14
Graph each function using degrees.

119) y=3sin 4

1
121) y=—-sin 0

104) InABCA,a=18, ¢=24, mzB=113°
Find b

106) InAPQR, g =7, r=12, msP = 49°
Find p

108) In ABCA, msC =46°, mz4A=54°,b=11
Find a

110) In ADEF, mzD = 65°, mzE = 88°, f =10
Find e

112) InACAB, mzC=139°, a=15, b=16
114) InAEFD,d="17.7, mzE="75° f=6
116) InARST,s=6, r=109, t=8

118) InARPO, p=12, g=14, r=11

120) y=sin 8 +1

0
122 =sin —
) Y 2

Using degrees, find the amplitude and period of each function.

123) y=2sin 360 +2

(e
125) y =4sin (; - 150) -3
127) y=7sin (36 + 135) + 1

1
129) y:E-sin 0+3
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124) y=sin (0 +135)
126) y=~ s (6 +150)
=—.sin|—

Y73 8
128) y =2 + 5sin (66 + 90)

130) y:%-sin(59+45)—5



Answers to Practice for Q3Exam2 (ID: 1)

(x+6) +(y+2)2: (x+5) +(y—10)2:

1) + =1 2) 1 3) 1
121 25 196 81 81 64
2 2 2 2 2 2
2 (x—7) +(y—8) _q 5) (x+2) +(y—2) _q 6) (x+4) +(y—3) 9
9 144 169 4 30 20
2 2 2 2 2 2
. (x—7) +(y—4) _ 9 (x-5) +(y—3) _ 0 (x+1) +(y—z) B
105 50 75 30 49 144
2 2 2 2 2 2
10) (x+7) +(y+5) _q ) (x+4) +(y+3) 1 12) (x—2) +(y+1) 1
25 100 16 36 16 100
2 2 2 2 2
13) (x+5) +(y+1) _q 14) (x+l) +(y+7) 1 (x—1—7) i
49 64 100 169 2/ (y+10)
15) + =1
4 100
2 2 2 2 2 2
16) b-3f Ge7f 17) SLE 18) bed? V)
49 121 4 36 9 49
2 2 2 2 2
19) I Vi 20) e =1V 21) bvdl? 0
36 9 36 25 49
2 2 23)
22) (x b 2) + y_ = 1 8\)/ Center: (0,71)
25 36 2
(: Vertices: (7, _E)
~ -
T8 do_— ~ 2 ’xFoci:(Z\/l_,fg)
N = J (2o *%)
B’
24) 25)
8\)) Center: (O, -4) ; Y Center: (0, 1)
Vertices: (7, -4) Vertices: (4, 1)
‘ G . ak
R oci: — — Foci: 1
. O TN (V)
R R ) 2 e R N | /] e
// ) \\ :
T % B
Y \
26) 27)
8ky Center: (0, 0) ; Y Center: (4, -4)
Vertices: (\/E s 0) Vertices: (7, —4)
6 (—\/E, 0) N (1, —4)
4 Foci: (+/3, 0) 4 Foci: (4 + /5, —4)
AN (/5,0 5 (4-+/5,-4
R Y N e R P} IR e
\i// :4 7 N
B B \ J
Y \
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28) 29)

i Center: (4, 2) KB4 Center: (2, -3)
TN Vertices: (-4, 7) Vertices: (6, ~3)
0 (~4,-3) ° (2,-3)
4 Foci: (-4, 6) 4 Foci: (2 + \/7, -3)
( )ﬂ (4. -2) , 2-+7,-3)
<% \o 4 7 124 ¢ ; ETgE 21T 2 N ;
N~ -
) N
—8' =8
30) b o 31) (x+8)+(y+11)*=64
Vertices: (7, 1)
- C 1)
TN R
pEt (\K_‘l P ] )/) e
2 K 2 2 2 2
32) (x=14) +(y-15)* =9 33) (x=5)+(y+3)* =43 ” (x_14)2+(y__) L
35) (x+2)*+(y+12)* =25 36) (x—2)+(y—16)*=9 37) (x+4) +(y+4)*=90
38) (x+1)*+(y-2)* =170 39) (x+3)%+(y-11)*=37 40) (x+3)*+ (- 1)*=100
41) (x+2)* +(y—8)* =89 42) (x+2)* +(y=9)*=90 43) (x—14)* + (- 14)* = 16
44) (x=10*+(y+9)* = 64 45) (x—4) +(y-9)*=49 46) (x-7)*+*=16
47) 1 48) sec @ 49) sec? 0 50) —sin &
51) 1 52) cos @ 53) 1 —cot @ 54) cot 6
55) Common Difference: d = 8 56) Common Difference: d = -200
a, =295 a, =—-4638
57) Common Difference: d =-20 58) Common Difference: d =5 59) Common Difference: d =3
a,, =-590 a, =126 a, =134
60) Common Difference: d =—-10 61) 315 62) 2135
a, =-226
63) 8740 64) —1890 65) 567 66) —832
67) —6840 68) 450 69) 1176 70) 175
71) 275 72) 230 73) 338 74) 1030
75) 532 76) 215 77) Common Ratio: r =4
a, =-65536
78) Common Ratio: =2 79) Common Ratio: r = -4 80) Common Ratio: =3
a,=-768 a,, =-524288 a, =19683
81) Common Ratio: =3 82) Common Ratio: =3 83) Common Ratio: r = -2
a,, =59049 a,, =-59049 a,=1024
84) Common Ratio: r =-3 85) —52429 86) —1365
a,, =39366
87) 2186 88) —976562 89) 9841 90) 52429
91) -3069 92) -381 93) 255 94) 2188
95) —-170 96) 130208 97) 684 98) 340
99) -52429 100) 9842 101) —12 102) 12
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103) 38.8

107) 10

111) 71.1 units?
115) 34.9 units?

104) 35.2

108) 9

112) 78.7 units?
116) 23.5 units?

105) 18.9

109) 23

113) 4.8 units?
117) 27.2 units?

121)

106) 9.1
110) 22
114) 22.3 units?
118) 63.7 units?

A

A

4
=4

=0

4
124) Amplitude: 1

Period: 360°

119) y 120)
S /TN /T\ ,
< > \/ >
18 3p0 540° 180 360° 540°
g \/ -
_U' _l;
122) 123) Amplitude: 2
6 Period: 120°
N 72 Q00 | 2160°

4
125) Amplitude: 4

, 1
Period: 1080° 126) Amplitude: 3

Period: 2880°
1 1
129) Amplitude: 5 130) Amplitude: S

Period: 360° Period: 72°
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127) Amplitude: 7
Period: 120°

128) Amplitude: 5
Period: 60°



